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	SUMMATIVE ASSESSMENT – I (2015-16)
ENGLISH COMMUNICATIVE
Class - IX
Maximum Marks: 70 							Time: 3 hours 

Instructions : 
The question paper is divided into Three sections. 
Section A	 : 	Reading 					20 marks 
Section B 	: 	Writing & Grammar				25 marks 
Section C 	: 	Literature & Long Reading Text 		25 marks 

	

	
	
	SECTION A
(READING :20 marks)

	

	
	1
	Read the passage given below and answer the questions/complete the sentences that follow :                                                                                                1x8
Chocolate diamonds are actually brown diamonds and compared to the well-known white diamond they aren’t worth much. Diamonds are produced in mines.  The best known diamond mines are in Australia, South Africa and Russia.  The largest diamond mine was discovered in 1976 in the desert of Australia near a little creek named Lake Argyle.  Diamonds are created under very extreme conditions of pressure and high temperature.  It is a general misunderstanding that there exist only white colourless diamonds.  Actually, diamonds exist in many different colours.
Of all the diamond mines in the world almost 80% of all diamonds produced are brownish in colour.  Because they were found in such large quantities compared to the other coloured diamonds, they were considered as low-valued diamonds, only good for the industrial sector.  But a famous man called Le Vian came with a marketing campaign to increase the popularity of the chocolate diamond.  Instead of calling it a brown diamond, he gave it popular names like caramel, chocolate, cinnamon and cognac.  Since his marketing campaign, chocolate diamonds are becoming very popular.
The value of a diamond is based on its shape, brightness and colour.  Because white diamonds are rare, their value is based on the fact that there are not many white diamonds around.  But if you look at the shape and brightness, then the brightest diamond in this world known to men is a brown diamond. Before the development of the Argyle diamond mine in Australia in 1986, most brown diamonds were considered worthless for jewellery; they were even not assessed on the diamond colour scale, and were predominantly used for industrial purposes. However, marketing strategies changed in the 1980s and brown diamonds have become popular gems. The change was mostly due to supply: the Argyle mine, with its 35 million carats (7,000 kg) of diamonds per year, makes about one third of global production of natural diamonds; 80% of Argyle diamonds are brown. The percentage of brown diamonds is lower in other mines, but it is almost always a significant part of the total production. Consequently, scientific research on causes of brown colour in diamond and ways to alter it has intensified.
(a)	 The wrong notion about diamonds is  __________. 
(b)	Brown diamonds were considered low in value because__________.
(c)	Brown diamonds became popular owing to __________.
(d)	The value of a diamond is based on __________. 
(e)	Why are white diamonds rare ?
(f)	Whatxbare the popular names given to brown diamonds by Le Vian ?
(g)	Based on shape and brightness, which is the brightest diamond known?
(h)	Find the word from the passage that means ‘a planned set of actions aimed at achieving a particular result’.    (Para 2)

	8

	
	2
	Read the passage given below and answer the questions that follow :
(2x4)+(1x4)=12
	Want to feel better, have more energy and perhaps even live longer? Look no further than exercise. The health benefits of regular exercise and physical activity are hard to ignore. And the benefits of exercise are yours for the taking, regardless of your age, sex or physical ability.
 Regular physical activity can improve your muscle strength and boost your energy. Exercise and physical activity deliver oxygen and nutrients to your tissues and help your cardiovascular system work more efficiently. And when your heart and lungs work more efficiently, you have more energy to use in your daily activities.
Physical health affects the mind and vice-versa. Let us be clear that a sound mind in a sound body are required for high efficiency and good quality work in the office, factory or field, which lead to a sense of achievement and fulfilment.
Our health is, of course, important not only to us, but also to our families and even to our employers. No wonder then those companies everywhere have a stake in the health and fitness of their employees and are willing to spend a lot of money for this purpose. Japanese companies particularly excel in this and the more successful among them start off the day with a body bending and stretching session and even singing the company song aimed to promote loyalty and motivation among the workforce!
It is estimated that some 20,000 American firms have established in-house health clubs. Typical of them is the soft drink manufacturer, Pepsi Cola which has spent about 2 million dollars in setting up a health club at its head office in New York State. Such expenditure has proved to be a wise investment in achieving better efficiency and high productivity. It has indirectly also helped reduce the premium on the health insurance of staff. Hundreds of companies have come up for the management of health clubs and fitness centres.
(a)	How is exercising the most inexpensive way to keep healthy ?
(b)	How does regular physical activity help  ?
(c)	What shows that the health of the employees is important to a 
company ?
(d)	Why is expenditure on health a wise investment ?
(e)	What is meant by ‘ignore’ ? (Para 1)
(f)	What is meant by ‘prerequisites ? (Para 2) 
(g)	Find the word opposite in meaning to ‘low-grade’. (Para )
(h)	Find the word opposite in meaning to ‘exact’. (Para 4)
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	SECTION B
(WRITING & GRAMMAR: 25 Marks)

	

	
	3
	Ramesh, a student of class IX stood first in the Poem Recitation Competition and was awarded the prize in the school assembly. Since it was his first achievement, he was elated. He decided to write a diary entry. Write the diary entry for him in about 100 -120 words.

	5

	
	4
	Develop a story in about 150-200 words with the following beginning .Also give a suitable title.
Raman and Seema were very busy working in a multinational company earning a very handsome salary but they didn't have the time to __________.

	10

	
	5
	Complete the following paragraph by choosing the appropriate options from the ones given below. Write your answers in the answer sheets against the correct blank number. Do not copy the entire paragraph.
Sandalwood is the name of a class of fragrant woods (a)	______ trees. Unlike many other aromatic woods, they retain their fragrance   (b)	______ decades. Essential oils (c)	______ also extracted from these woods.
		(i)	(ii)	(iii)	(iv)
	(a)	from	at	at	for
	(b)	at	of	for	from
	(c)	can	are	could	will

	3

	
	6
	The following passage has not been edited. One word is missing from each line. Identify the missing word and write it in your answer sheet along with the word that comes before and after it.  Remember to underline the missing word. The first one has been done as an example for you.
Word Before	Missing Word	Word After
Kite flying a popular sport at that	eg.	 Flying		 was		 a
time.  while the girls knitted sewed,		(a)_____	_____		_______
we boys climbed the roofs watch.		(b)_____	_____		_______
We too wanted to enter competition but		(c)_____	_____		_______
Unfortunately our pocket money limited	(d)_____	_____		_______

	4

	
	7
	Rearrange the given words and phrases to form meaningful sentences.  Write the correct sentences in your answer sheet.
e.g. :  sharing / does / rewards / naturally / come / to humans
Does sharing rewards come naturally to humans?
(a)	do / humans / their / share / rewards / with others / equitably
(b)	comes / naturally / it / to / children / involves / it / when / collaborative work
(c)	are / they / less inclined / it / when / does not / collective action / involve
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	SECTION C 
(LITERATURE & LONG READING TEXT: 25 Marks)

	

	
	
	Read one of the extracts given below and answer the questions that follow.

	

	
	8
	'They wondered: How long will he keep it up ? How far will he go today? Can he go it alone?'
(i)	Who are 'they' ?
(ii)	Why was the big man walking alone day after day ?
(iii)	Explain : 'They wondered.'

	3

	
	
	OR

	

	
	
	I slip, I slide, I gloom, I glance,
Among my skimming swallows;
I make the netted sunbeam dance
Against my sandy shallows.
(i)	Who is the narrator?
(ii)	What is the literary device used in the first line ?
(iii)	What does 'the netted sunbeam' refer to ?

	3

	
	
	Answer the following questions in about 30 - 40 words:       

	

	
	9(i)
	Why was Marcy wary of Duke in the beginning ? What made her change her views later ?

	2

	
	9(ii)
	How was the poet able to make out that it was some sad song sung by the solitary reaper ?

	2

	
	9(iii)
	Do you agree that Mrs. Al Smith is the representative of American outlook ?  Give reasons.

	2

	
	9(iv)
	How did Sudha Murty help her distressed grandmother ?

	2

	
	
	Answer one of the following questions in about 80-100 words

	

	
	10
	“I will keep Saraswati Pooja day during Dussara as the deadline”, says the grandmother. What does this statement reflect about the speaker? What is the importance of being determined and punctual in our day to day life ?

	4

	
	
	OR

	

	
	
	How can you say that Wordsworth was truly impressed by the solitary reaper’s song ? How do memories of  past events help us overcome the loneliness of today ?

	4

	
	
	Answer one of the following questions in about 150-200 words.

	

	
	11
	Gulliver did not return to Lilliput as was required.  Describe briefly what happened then?

	10

	
	
	OR

	

	
	
	Draw a contrast between the people of Lilliput and Brobdingnag.

	10

	
	
	OR

	

	
	
	The sound of the accordion was the last straw to a drowning man.  Do you feel so ?

	10

	
	
	OR

	

	
	
	How has Harris been portrayed in “Three Men in a Boat” ?

	10
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